
 

HỌC TẬP - LỚP 4  - TOÁN LỚP 4 

Giải bài 2 trang 48 SGK Toán 4 tiết Luyện tập chung 

Bài 2 (trang 48 SGK Toán 4): Tính giá trị của biểu thức: 

a) 570 - 225 - 167 + 67 

168 x 2 : 6 x 4 

b) 468 : 6 + 61 x 2 

5625 - 5000 : (726 : 6 - 113) 

Lời giải: 

a) 570 - 225 - 167 + 67 

= 345 - 167 + 67 = 178 + 67 = 245 

168 x 2 : 6 x 4 = 336 : 6 x 4 = 56 x 4 = 224 

b) 468 : 6 + 61 x 2 = 78 + 122 = 200 

5625 - 5000 : (726 : 6 - 113) 

= 5000 - 5000 : (121 - 21) 

= 5000 - 5000 : 100 = 5000 - 50 = 4950 
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